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Topic:- General Computer

1) CTRL+C shortcut key are used for?/ CTRL+C Rliedhe poit BT YT faram S 82
1. Cut/h<c

2. Paste/RIUG T

3. Copy/ﬁvtﬁ

4. Hide/GUR

Correct Answer :-

. Copyfcb—\lﬁbf

2) A collection of lines that connects several devices is called?/ﬁ'ﬁ:ﬁ' Cak:prAC] T:b_g%aﬁﬁ Ca) \_rﬁ?Rﬂ %, CaNIGH
2

1. Bus/s9
2. Peripheral connection wires/ORTHRA PR dRR
3. Both ofthe above/ ijaﬁ gl

4. Internal wires/Se3ac aR

Correct Answer :-

e Bus/dd

3) Which of the following is the largest community in classification of e-commerce?/ fridsaTsamd &
Fiffepror & o ISAT YA B2

1. Business to Business (B to B)/fafSma @ﬁﬁﬁﬁ
2. Business to Consumer (B to C)/fafSmg ¢ DGR
3. Business to Government (B to G)/fafoi¥ ¢ Tadi=


http://www.vyapam.nic.in/rulebooks/RB_2017/Group_II_grade_2_2016_REVISED_RULE_BOOK.pdf

4. Government to Government (G to G)/Tl?fﬁ'é gﬂ?{'ﬁ]?{

Correct Answer :-

« Business to Business (B to B)/fafom¥ ¢ fafom

4) Which of the following are the system software:/ ﬁ'ﬁﬁ I B9 91 R mﬂ?%"
1. MS Word

2. Windows 7

3. Excel

4. Power Point

Correct Answer :-

e Windows 7

5) The “father” of MYSQL is / MYSQL & “SI9%” &-
1. Michael Widenius/ATS®d fagfa

2. Stephanie Wall/ZW+1t aTdl

3. Sigmund Velin/RATHS dei=

4, Bill Joy/fsd g

Correct Answer :-
e Michael Widenius/AT3®d faefag

6) Whatis full form of USB?/gUd! (USB) BT YRT -ITH T 8?2
1. Unicoded Smart Bus/a:‘ﬁaﬁ@?{ e a9

2. Universal Smart Bus/*fﬁﬁ?&'f e a9

3. Unicoded serial busﬂfﬁaﬂ@v@? HiRad a9

4. Universal serial bus/T‘ﬂaﬁT“[ iRae a9

Correct Answer :-

e Universal serial bus/q:‘ﬂaﬁ?l ikge a9

7) What could cause a fixed disk error?/ frog fev Wm@ @'clT %‘.’
1. No-CD installed/dtSt gid Hé’[%
2. Incorrect CMOS settings/TTed SN JfeT

3. Slow processor/T THER



4, Bad ram/ss X9

Correct Answer :-

e Incorrect CMOS settings/Terd SHg JfeT

8) CANCELLED

E-mail address made up oi?/é-ﬁﬁ d1 e gar %?

1. TCP/IP, domain, ISP/Artdl/3mstl, S U9 mguadt

2. Destination, device and sender/é%aﬂﬂ:[, %Tﬂém T s
3. Header, message, and signature/gex, o= Td RigR

4. TCPJIP and message/"cﬁ?ﬁd’[, GITéTﬁ od e

Correct Answer :-

¢ Header, message, and signature/%@!?, TR Ud RigkR

9) PGP is used in?/ISid} (PGP) SUTRT BT B2
1. Browser security/ SIT3SIR Y&
2. Email security/ RG] BRall

3. FTP security/ Tt 10T RET
4. None ofthese@ﬁ@f ﬁ‘s‘ :l—E:pf

Correct Answer :-

 Email security/ 3-0d &1

10) Which of the following hardware component is the most important to the operation of database

management system?fﬁﬁ}lﬁ'@ﬁ E'Iéatﬂ' HeP & ol Sy Ua e YUITel & Tara- & ﬁm RCE:] uﬂatpf %?
1. Printer/ffex
2. Mouse/HI3Y

3. Plotter/@hﬁ
4. Hard disk/BTSS%P

Correct Answer :-

e Hard disk/gTSS%H

11) .gov,.edu,.mil and .net etc extensions are called:/ .gov, .edu, .mil 3T .netgmﬁm aﬁﬁ% %'-
1. DNS/SITATY



2. EEMAIL targetsfg-flﬁ c ‘.IE\FI
3. Domain codes/S 8 W
4. Mail to address/Hdl ¢ UgY

Correct Answer :-

e Domain codes/fsﬁﬁ:[a'ﬁ@

12) To stop the automatic relative cell references, i.e. to make the cell reference absolute, type a

character before the column and row number,/ 39 fAfdd A P ﬁI'Q'CITﬁ Taftra 9d & Wd: 3h=A B AP
¥ forg, iew R A P F=n F ga CELEZOE

1. # (Hashy# (39))

2. $(dollar)y'$ (SIaR)

3. Y(percentage)/% (VRId)

4. *(star)* (XR)

Correct Answer :-

« $(dollary$ (STR)

13) _ isthe minimalsuperkey./ _____ fufewa JrR F’ﬂ o
1. Primary key/l;ﬂstlﬁﬁ

2. Candidate key/ﬁ%@? W

3. Unique key/q\:ﬁE w
4, None of these/g:lﬁ I ﬁ%ﬂﬁr

Correct Answer :-

e Candidate key/%qlgéa W

14) Which DOS command are used to create a partition of hard disk?/ FI%%W HUKRA TR & @ Dos
FT DI AT HHIS YT oidT 82

1. Cd
2. Md
3. Format

4. Fdisk

Correct Answer :-

e Fdisk



Topic:- General English

1) Fill in the blank with the word given in the bracket along with the correct
prefix out of the given four options.

Everyone laughs at Peter for his (mature) sense of humour.

2) Choose a word that can be replaced for the given sentence.
A person who does not believe in God.

1. Altruist

2. Spiritual

3. Atheist

4. Believer

Correct Answer :-

« Atheist

3) Out of the four options given below, choose the one with the correct
meaning of the idiom.

"At the crack of dawn".
1. At noon

2. At midnight

3. Very early in the morning

4. Very late at night

Correct Answer :-

« Very early in the morning



Out of the given options, choose the one which is the correct passive voice
of the sentence given below.

Why did you write such a letter?

1. Why was such a letter written by you?

2. Why is such a letter written by you?

3. Why such a letter has been written by you?

4. Why such a letter had been written by you?

Correct Answer :-

« Why was such a letter written by you?

5) DIRECTIONS: A sentence with an underlined word is given below. Find the
word which is opposite to the highlighted word from the given options.

"I managed to acquire all the books I needed"
1. lose

2. buy

3. obtain

4. bring

Correct Answer :-

e lose

6) Out of the four sentences given below, choose the one which is
grammatically correct.

1. Your grades are too low for you to get admission in a prestigious college
2. Your grades are much low for you to be getting admission in a prestigious college
3. Your grades is too low for you to get admission in a prestigious college

4. Your grades has been too low for you to get admission in a prestigious college

Correct Answer :-
« Your grades are too low for you to get admission in a prestigious college
7) Fill in the blanks with the correct set of Prepositions.

The council has some spare cash that it proposes spend public
amenities.

1.on, to



2.in, from
3. for, for

4.to, on

Correct Answer :-

8) Out of the given options, choose the one which is the correct indirect
speech of the sentence given below.

“Let us invite some friends to our son’s birthday”, said the father.

1. The father proposed that they should invite some friends to their son’s birthday
2. The father proposes that they could invite some friends to their son’s birthday
3. The father proposes that they can invite some friends to their son’s birthday

4. The father proposed that they will be inviting some friends to their son’s birthday

Correct Answer :-

« The father proposed that they should invite some friends to their son’s birthday
9) Fill in the blank with the correct article from the options given below.
James is from _____ Republic of Ireland.

1. The

2.A

3. An

4. No article required

Correct Answer :-

« The

10) Two sentences are given below. Choose the correct conjunction to join
these given sentences to form a meaningful whole.

The accident was serious.

She was not hurt.

1. and
2. hence

3. but



4. Else

Correct Answer :-

e but

11) Out of the given four words one is spelt incorrectly. Find the word that is
incorrectly spelt.

1. Grateful
2. Begining
3. Immediate

4, Guarantee

Correct Answer :-
» Begining

12) DIRECTIONS: A sentence with an underlined phrasal verb is given below.
Out of the four options, choose the one which can be substituted for the
given phrasal Verb.

My doctor wants me to cut back on sweets and fatty foods.
1. increase the intake

2. eat in large amounts

3. consume less

4. throw away

Correct Answer :-
e consume less

13) DIRECTIONS: Two sentences are given below with a blank in each. Fill in
the blanks with a pair of suitable words from the four options for each blank
respectively:

Train increases of five percent are envisaged for the next year.
A ___ justice system is a fundamental part of a civilized society.

1. fare, fare

2. fair, fair

3. fair, fare

4. fare, fair



Correct Answer :-
« fare, fair

14) DIRECTIONS: A sentence with an underlined word is given below. Find
the word which is most similar in meaning to the underlined word.

The naval force was annihilated during the attack.
1. destroyed

2. saved

3. escaped

4. established

Correct Answer :-

» destroyed

Topic:- General Hindi

1) e A rfydard o Ag<a fear wiraT §

4, Y HTY

Correct Answer :-

2) 39 qH T3{’- aTR §
1. SWBIATID
2. [ayTTaTad
3. RITdTdh
4. b ddrad

Correct Answer :-

3) Wd &I af~rar Mo & o STl @ TT T8T v :



1. AN BT 5|
2. Y Bt B

3. Xeg §AT & |
4, IR AT 5 |

Correct Answer :-

. IfYErh B

3. Wd
4. 39d g+t

Correct Answer :-

5) “3/¢/57eT TR BAPB 1T b BT aATedd @ :
1. S 3frelt 18 TR Sepd €1 R

2. e M T/ a7l TG [G@TaT =l §

3. U= ¥ IR &Y a1 Y

4. STSTRYHI TG I1 I UREIH gIel &

Correct Answer :-

- SfYRT I RG T AT Fer@raT el &

6) ‘TN HT HTE 7 FTATE - ATH§
1. fayraras
2. Fgards
3. Ybaarad
4. TH/ATD

Correct Answer :-



7) Foifsad gl a3 :
1. SR P 3P TH E.

2. 3TUPHT YA,

3. TGP ATIRATE B STl 6.
4. 3110 39 W faaR &,

Correct Answer :-

« 3 W fTAR B,

10) fwifra & T a2 :

1. YAEE A e 9SG T ST 51 B,

2. UEEG A TG AMHG T DI TR,

3. UHiG A TG A8 Iy o1 faior faa,
4. UOEiE A e A\S 94 31 9P 3.
Correct Answer :-

« UHTiC A TG ATHG UY & -1 B,



11) “Hbdara® aIr ¥

1. foreht fopan & & a1 11 1 AT Y1 fire B
2. U fopa1 & gl fopat R R 819 &1 AU gl .
3. 31yd, 2, gom, UH Y 3M1fE & HTd Uahe g §.
4. T, M HTSTT A1 3fiafe &1 W19 afdrd gial &.

Correct Answer :-

. T purd g ok e srdy gar ],
12) fogiea d PH-AT TR TAT R :

1. e HEIGY HIDHI .

2. SR SATYDT YTl Y.

3. BRI AU AR

4. 3G | TH H S,

Correct Answer :-
. AR I ds.

13) e BT YT AT & FRET A BIelT & SrenT TEt
1. dIpifad

2. GgTa¥

3. GETaR 3IR Aep ol

4, IO

Correct Answer :-

14) “3HTC-GTeT HT 71T HIGH §1-7- TeTak ST AR § :
1. 3TH D fqufrl &1 31 ST

2. SIfAH ISTT

3. WTRe P! BT 3FIHT BT

4. fed ge 9

Correct Answer :-



. GiHIRe® BT BT 3FHT B

Topic:- General Knowledge

1) The ‘Baiga tribe’ is majorly found in:/ S ST U‘I‘s‘ﬁl'l?ﬂ%-
1. Shivpuri, Jhabua, Dhar/ ﬁrag;ﬂ, A3, YR

2. Shahdol, Sidhi, Dhar/ Tgeld, I, 4R

3. Mandala, Shahdol, Balaghat/ H&dI, TgsId, Sardic

4. Sidhi, Jhabua, Balaghat/ idt, Srga, Srardre

Correct Answer :-
« Mandala, Shahdol, Balaghat/ H&dl, Ygsld, SamaC

2) Where is the Railway Coach factory in Madhya Pradesh?/ HeOUSYl # ¥ HId

B TE1 02

1. Beena/dHl

2. Morena/ @TH

3. Bhopal/ eI

4. Hoshangabad/ HERIEIE

Correct Answer :-

« Bhopal/ U@

3) Which religion is the predominant religion of the state Madhya Pradesh?/
DIF-AT S e YT I BT ugE U 72

1. Muslim/ HYHIA
2. Hinduism/ %@ﬂ'ﬁf
3. Sikhism/ g o
4. Buddhism/ &g ¥

Correct Answer :-

. Hinduism/ f§g e

4) Which is the first district of Madhya Pradesh to produce energy from

biomass?/ AU BT HI-HT UYH forar & S ITaHT § FHell BT TS HdT 8-



1. Betul / 9@

2. Morena /Eﬁ_—ﬂ
3. Gwalior / TaTfeRR

4. Mandsaur / HeaR

Correct Answer :-

. Betul / Sq@

5) In which city is the Thakur Ranmat Singh stadium situated?/ 3T$Y ¥T1HdI
Rig wfean g e o T 32

1. Itarsi/ SR
2. Rewa/ Jar

3. Satna/ dd-l
4. Bhopal / HIurd

Correct Answer :-

« Rewa/ Jar

6) When was the ‘'Lok Vaniki’ programme launched by the Government of

Madhya Pradesh?/ 3% W= TXHR §RT "AD-aAl-1d]" HTUHH $Hd IRE DI 15 A-
1. 1998
2. 1999
3.1997

4, 1992

Correct Answer :-

« 1999

7) The literacy rate among the SC’s is:/ 3Jgfud SATfd B ATERGT <X &
1. 85%

2.75%

3. 60%

4.66.16%

Correct Answer :-



e 66.16%

8) Kapildhara waterfall is situated on which River?/ Wumaamquﬁ
W RE??

1. Narmada/ THar
2. Son/ =

3. Tapti/ dTait

4. Shipra/ R

Correct Answer :-

« Narmada/ :m‘a

9) Gas released during Bhopal Gas Tragedy was:/ HIUTd A9 IRIS} & R WY
T u1?

1. Methyl Isothicoynate/ urgd smsaly R EET
2. Ethyl Isothicoynate/ SUISd AEHIURATZC
3. Methyl Isocyanate/ ERESEIERIRIESL

4. Ethyl Isocyanate/ QUIgd &ﬂgﬁf Hlsllc

Correct Answer :-

« Methyl Isocyanate/ ﬁr?ﬂ%ﬁ&ﬂéﬂ}f g 3-3-18

10) Which leader of Madhya Pradesh became the country’s third Home
Minister and then Defence Minister in Nehru’s cabinet?/ 7 U & ford AdT &1
AgE & URtEA W URd & qd g Td 91¢ | &THA 99141 T2

1. Prakash Chandra Sethi/ U&=l T Jat

2. Ravi Shankar Shukia/ =R Yo

3. Kailash Nath Katju/ &aT=T -1 STes]

4. Dwarka Nath Mishra/ gR&]1 1Y fHsm

Correct Answer :-

« Kailash Nath Katju/ AT Y A |

11) State foundation day is celebrated in Madhya Pradesh on:/ TSR I
RITYT f&a™T S WA STt 82



1. 15t November/ 15t 9dsR
2. 15 June /15t 5
3. 23" September/23™ RiaR

4. 315t December/315t feOmR

Correct Answer :-

. 15t November/ 15t 4R

12) Maheshwar is famous for:/ Ag%R frg fore g &2
1. Saree Industry/ H’I@fBEﬁ"T

2. Ahilya Ghat / 3ifgedr ure

3. Mahamrityunjaya Rath Yatra /HgTHSd XY AT

4. All of the above/ IWRIad gt

Correct Answer :-

o All of the above/ IWRIad gt

13) Which Flower is famous as the state flower of Madhya Pradesh? /aﬁ-—rm
Td U UoRT & I8 B & &9 | Ul 82

1. Rose/ Tdld
2. White Lily/ g ferel
3. Marigold/ Tar

4. Lotus/ & HA

Correct Answer :-

« White Lily/ 9Wg forett

14) Where does the ‘Chandi Devi’ mela occur?/ ‘g3t ﬁ'ﬁ’ﬁ?ﬂﬁ’fﬁ'ﬂ?ﬂ %?
1. Sidhi/ it

2. Shahdol/ TgSId
3. Rewa/ Jar

4. Satna/ gd-l

Correct Answer :-



. Sidhi/ dieit

15) Iqbal Award is given in the field of:/ SHaTd RIHR frd & # fear war 82
1. Classical music/ YT IMd

2. For film direction/ Wﬁ%ﬁ?%%ﬁ

3. Creative Urdu writing/ WB‘{E@W

4. Hindi literature/ f&<) oifg

Correct Answer :-

« Creative Urdu writing/ TS 3¢ o

16) The Ancient city of Madhya Pradesh “"Dashpur” is now famous as?/ A

W T T e "SR" 3T fopg wewr &7 ¥ fRua 82
1. Bhopal/ HdT@

2. Jhabua/ L1g3iT

3. Vidisha/ fafezm

4. Mandsaur/ H&9R

Correct Answer :-

« Mandsaur/ HeaR

Topic:- General Maths

1) A motor car finishes a journey in 10 hrs. the first half at 21 km/hr. and the
rest at 24 km/hr. Find the distance?/ U& dfad 3MU=1 AT HI 10 T H THTW HdT
g1 o gt a7 21 frft/aer aur v gt 24 P AT F oI @ RO I Fa g @
FIfoTg

1. 220 km/220 foHT
2. 224 km/224 fHHt
3.210 km/210 f&H

4. 232 km/232 foHt

Correct Answer :-

e 224 km/224 foHT



2) The difference of simple and compound interest for 2 years at 4 percent
per annum is “20. The principal amount (in ) will be: / af& & TuT &1 ATYR sATS
3R Tohgfes TS BT 3 4% ATTYD ST Pt &2 F 20 1 O FAYT 70 ( H):

1. 12000
2. 12500
3.13000

4. 13500

Correct Answer :-

« 12500

3) The total of ages of A, B and C at present is 90 years. Ten years ago the
ratio of their ages was 1:2:3 respectively. Then the present age of Bis:/ A, B

3R C I TdHTT 3T BT H& TN 90 T g1 10 T UgA SF AT PT SJUTd HHI: 1:2:3 YTl B
P gAUT 1Y 3-

1. 30 year/30 GL
2. 25 year/25 a¥
3. 28 year/28 99

4. 40 year/40 GL

Correct Answer :-

. 30 year/30 ¥

4) DIRECTION: Study the table carefully to answer the question that follow./
frd=r: fom aroft Y Jraert gde gews N fed ™ uy &1 3w difvul

Production of two types of items by two different companies in the
different months/ T #EAT # 27 BT F93T F Z3WT aF 99T F
FEIT F IS

Company,/&®¥g=1T L M
Months/sadom T;;_ ;,.J' T;;::_;f T;;En-_if T;';i:_ 25’-.-"
January/s=adr 432 654 434 324
February/®Tair 534 335 532 450

March/ATr 864 654 765 565
April/3rd= 643 454 665 933
May/7& 789 654 424 666

What was the respective ratio between the number of items of type-2
produced by Company M in the month of May and the number of items of



type-1 produced by Company-L in the month of March?/ HUT M GRTﬂ'sfa?Téﬁ
HIqUIfed STSU- 2 g 3il B TXAT 3R HUAT L gIRT AT & e ¥ Iquifed e5u- 1%
TS B TGAT & ST HHRT :AJUTT HAT AT?

49
1. 109

37

2. 48

50
3, 109

43
4. 58

Correct Answer :-

5) A regular hexagon has a side of 4 cm, find its area (in sq. cm)./ @& fFrafia
TSYS Bt YSIT 4 I 3, TABT &AGS JTd BHog (@ f Ift 7))

L 243
, 183
3 363
4 2873
Correct Answer :-

2443

6) Mean of twenty observations is 15. If two observations 3 and 14 are
replaced by 8 and 9 respectively, then the new mean will be: /20 U&UN T AT
15 8| afe af Waror 3 3R 14 DI HURT: 8 3R 9 A WATT fHar STar g a7 791 718y FHM-

1. 14
2.15
3.16

4.17

Correct Answer :-



7) Ais 30% more than B and B is 60% less than C. By what percentage is A
less than C?/ A, B ¥ 30% 3ifI&® 8 3R B, C ¥ 60% &4 g1 A,C I fora= ufa=a 4 32

1. 35%
2. 50%
3.30%

4. 48%

Correct Answer :-

« 48%

8) One man or two women or three boys can do a piece of work in 88 days.
Then in how many days one man, one woman and one boy will complete the

work tohether? / 1 3TeH a1 2 AR a1 3dSS (Pt B9 H 88fe7 A & Tbd gl al
1 e, 1 Afge 3R 1 FIS T U A1y fiaer It o1H & fhaq faa) A &8?

1. 44 days/ 44 f&A
2. 24 days/ 24 feq
3. 48 days/ 48 fea

4.20 days/ 20 fe7

Correct Answer :-

. 48 days/ 48 a7

9) An jar contain 6 red, 4 blue, 2 white and 3 green balls. If 4 balls are picked

randomly what is the probability of getting all balls of red colour./ T& IR § 6
gﬁ,ﬁhﬁt‘% 2 Thg 3R 3 g8t g | af 4 A gre=ar Frerdt o o w1 mRear 8 5 @mi 34 ama @
Urad ?

18
1, 20

4. 91

Correct Answer :-



10) A fruit seller buys oranges at the rate of 3 for ¥2 and sells it at the rate

of 4 for Z3. His profit percent is:/ T Bd fathal Gl &) 22 # 3 &} X A Wear 8
MR 3 T3 W 4 Bt X A ITdT 8 ITAPT ATH UfI=Id 8:

1.10%
2.12.5%
3.25%

4. 50%

Correct Answer :-

« 12.5%

11) A, B & C start running at the same time and in the same direction on a
circular path. A completes a round in 252 seconds, B in 308 seconds and C in
198 seconds. After what time will they meet again?/ A, B dYl C & qXTPIR UY
TR TP B o= o v A1 a1 R™ Hd &1 A TP 9aH< 252 HUS H RT HRa1 &, B TH
TFHY 308 YHUS | [T HIAT § YT C TP TIDR 198 AHUS H TRT HXdl 81 3 Al I: fpamt
q9Y 91¢ firei?

1. 26 minutes 18 seconds/26 e 18 AHTS
2. 42 minutes 36 seconds/42ﬁ|¢|‘cr 36 AHUS
3. 45 minutes/45 ffH e

4. 46 minutes 12 seconds/46 e 12 JHUS

Correct Answer :-

« 46 minutes 12 seconds/46 fiFe 12 J&Us

12) If the numerator of a fraction is increased by 200% and the denominator is increased by
1

400%, the resultant fraction is  2°. What was the original fraction?/ Tf¢ T f4d &T 3121 200%

TTIT SITT 3R 6 400% TTIT SITE & TR sy - 20 @R 1 Tt st R a2

13
1, 4

11

4,

Correct Answer :-



13) 40% of a number is equal to 3/5 of another number. What is the ratio
between the first number and the second number respectively?/T® JBIT BT

40% ZEL TWAT F 3/5 P TSR 3| Tgal TBAT 3R gt =T & 1 sHsT: SuTd T 82
1. 3:2

2.1:3

3.3:4

4. Can't be determined,/ Fufika =&l fovan 51 war

Correct Answer :-

14) A person travels from P to Q at a speed of 40 km/hr and returns by

increasing his speed by 50%. What is his average speed for both the trips?/
U AfR P ¥ Q % 40 fHHl/gier § Terar @ 3R 919 ded 9ad 98 U= fd &I 50% FeT

AT 31 $A AT & QR Afed oI N a1ed |1 32
1. 36 km/hr /36 foHieer
2. 45 km/hr/ 45 feHyder
3. 48 km/hr/ 48 f&Hider

4. 50 km/hr/ 50 feHeer

Correct Answer :-

. 48 km/hr/ 48 faHiEer

Topic:- General Science

1) Monomer of polystyrene is: /TS &1 THAH g:-
1. Vinyl benzene/ pyesxs FYihyx

2. Divinyl benzene/ rve peesxs Fvhy

3. Ethyl benzene/ns,s FYix

4. Butyl benzene/ pixs £vhy

Correct Answer :-

« Vinyl benzene/ gyesxs Fvhx



